26
2007 1 27

2007/01/29 13:31



2007 1 16
F:¥Q7_2007¥Q7_ANZ_S26_ ¥S26_ .doc



L e ——— oottt 1
.................................................................................................. 1

L. e —————— oottt 2
L e ———————————————— e 4

2 e ———————————— ettt 5
2L, e——————— et 5
2.2, Po B e 5
23—t 7
24, 10% 95%6 e 8
77 10

73 - 10
............................................................................................................ 10

O e —————————— 11
........................................................................................................ 11
............................................................................ 12

................................................................ 13

2. ——————— oo 13
........................................................................................................ 13
........................................................................................................................ 13

Y/ R 14

B e ——————— e et 17
3.1, Dso TS 17
3725 19



40, 21
4.2, D10 e 23

D e 25
5.1. 2 25
5.2, 25

2 et 25
.................................................................................................................................... 26

5.3, 27

S . 28
............................................................................................................ 28
............................................................................................................ 29
................................................................................................................................ 29
................................................................................................................................ 30

6. 31
B. L. e Rt nr e nre e 31
6.2, IMP 31

0.3, 2 s 33



11
2.1
2.2
2.3
31
3.2
6.1
6.2
6.3
6.4
6.5
6.6

11
1.2
2.1
2.2
2.3
2.4
2.5
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mg/kg

log

x = log (dose)
log10
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10

108
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X log ( dose )
dose 95%
X log (dose)
95%
1.1.
12 Ethinyl estradiol
D10
D10
1.1 Ethinyl estradiol blotted mg
X 1 3 7 11
0.00316| 105 105 105 95
0.01 120. 110 110 85
0.0316 | 110. 115 115 95
0.1 108.1 126.07 164.32 110.35
0.316 215.58 267.58 259.18 217.85
1 347.95 353.92 368.3 359.03
3.16 397.43 376.05 393.82 368.37
10 422.18 412.77 429.95 366.43

Kanno.J.(2001), The OECD program to validate the rat uterotrophc
bioassay to screen compouunds for in vivo estrogenic responses : Phase 1 Table

6 x 01
6

Figure1D x

4

0.1
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1

1

01

.001

EC90

EC10

1.1

0.103 D90 =1.240

D10 =

D10

21

D10

D10

]
w'U.

1.2

extrem_gumbel_dist.JMP



1.2.

180

180

Gumbel

180



2.
2.1.
1 y X
(2.1)
Y _ylog(aly)
dx
2.1) 2.2)
y = aexp{-pe (2.2)
dx dy 2 a k
a X o0 y
k B
a = 100 B=(1212 k=(12)
B
k
0 a = 100
1 p=1/2 2 p=1 3 p=2
100 T 100
y 7 y
80T 80
60 60
40
4 2 0 2 4 4 2 6 ; :1 4 2 0 2 4
X X X
2.1
k=1 k=2
2.2. Bo B
(2.2) —pe™ B X

! Draper N.R. and Smith H. Applied Regression Anakysis 3" ed., Wiley (1998). P548-549.



k
2 1
B
B = ePo (2.3)
_ ’Be—kx = —pPop—kx = _a—(Bo+kx)
k= p1 Bo B1
y = aexp{—e Fo+f} (2.4)
(2.4) a = 100
B =1 B = (1/2,1,2) Po 23)  Bo
Bo = ~logp

Bo = (0.6932,0,-0.6935)
3

2.2
B, =-06935 fB,=0 B, =0.6935

(2.4) 2



log(logy —loga) = 4, + B,x

2
Bo B1
2.3.
180
(2.4) a X =X
a—Yy = a—aexp{—pe k)
y' =a-y
y' = a{l - exp(-pe)}
a = 100 k=1
B = (1/2,1,2)
34
2.3 180
f=2 p=1 [=1/2 gompertz_180.JMP
X/

(2.4) (2.6)

(2.6)



2.3

@.7)

2.4. 10%

(2.8)

10%

_ ﬁekX,
'

ﬁ:eﬂo

— ﬂekx/ — _eﬁoekX/ — _eﬁ6+kX,

k=P Bo
y' = a{l — exp(—ePorFx)}
a = 100 Br=1 p=(121,2)
Bo = log(B) B, = (~0.6932,0,0.6935)
95%
Yo X,
Yo X'
v ~ log(-log(1 — 3)) - Bq
v'=y0) — b1
a = 100 By =0 B =1

Yo=a-0.1=10

10
Xl(y’:lo) = log(-log(1 — W)) = —2.2504

2.7)

p1

(2.8)

Bo

(2.9)

50% Yo =a+0.5 =150



Xy_s0) = —0.36651

95%
n = Po+ PX

50%

(2.8)

(2.8)
(M0, Xo) p1
n—mno = P1(X" = Xo)

Mo
n = P1(X' = Xo) + 1Mo
Mo (2.8) n
n = log(~log(1 — 22))
y =a-0.5
no = log(—log(0.5)) = -0.36651
10%
no = log(-1og(0.9)) = -2.2504
1

y/ =a{l- exp(_eﬁl(X/*XO)JrTlo)}

Xo B1

1o y'

- P
no = log(=log(1 - 357)

D10
D10
(2.10)
(2.10)
(2.11)
a p%



2.5.

0 (2.8)

Apottom atop

!
Y — Xyottom 0 (atop - abottom)

y’ = Opottom T (Ultop - abottom)(l - exp{_eﬁ0+ﬁ1x/}

4
®bottom = 20 awp = 100 B1 =1
ﬁ6 = (-0.6932,0,0.6935)

2.4 20
p=2 p=1 p=1/2 gompertz_180.JMP

2.6.

exp(x) 10 X

(2.8)

(2.12)



p%

Bo
p1

Ba i

y = Baexp(=exp(—(Bo + B1x)))

y = B.{1-exp(—exp(f, + £,X))}

Bo
p1

ﬁ 3 abottom
ﬁ 4 atop

y = B3+ (Ba — P3) exp(=exp(=(Bo + f1X)))

y= /33 + (ﬂ4 - ﬂs){l_ exp(— exp(ﬂo + ﬂlx))}
P%

B1
B2 X,

Ba i

— 11 —

(2.13)

(2.14)

(2.15)

(2.16)
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no = —log(~log 1)

y = Baexp(—exp(=f1(X - B2) + o))

no = log(~log(1 - 55))

y' = Baf{l —exp(—=exp(B1(x — B2) + no))}

P%

p1

p% B2 X,
ﬁ 3 abottom

Ba i

y = Bz + (Ba — B3)exp(—exp(=B1(X — B2) + no))

no = —log(~log155)

y' = Bz + (Ba — B3){Ll — exp(—=exp(B1(X = B2) + 10))}

o = log(~log(1 - 755))

(2.17)

(2.18)

(2.19)

(2.20)

(2.21)

(2.22)



X log(dose)
n = Bi(x-pP2)
1 = B, (log(dose) —log 53,) (2.23)
log
2.7.
: Male SD rats ( :240-2709)5 Sham, TNBS,3dose n=8 n=40
ketamine/xylazine
TNBS,50mg/kg,with 30% EtOH)
Alosetron 5-HT3 0.003, 0.03, 0.3 mg/kg
CRD(colorectal balloon-distension)
5mmHg
(abdominal cramp -position) mmHg
30 2
2.1 smmHg
Alosetron 0.5
2 Sham

0.5 2
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21 05
Group 1 2 3 4 5 6 7 8
Opg/kg 30 20 25 20 25 30 25 20
3ug/kg 30 20 20 35 30 25 30 25
30pg/kg 40 45 30 40 35 25 40 45
300ug/kg 35 45 35 40 50 45 50 40
Sham 55 40 45 50 60 45 45 50
Hg
D10 Oug/kg
1/1000 Sham 1000
(2.22) 1/1000 1000
3
JMP
JMP organ_pain_05h_T _gomp.JMP 0.5 40
X dose yl~gomp
(2.22) y2~gomp n (2.23)
JMP
~organ pain 0bh T
P?ﬁ - ) 50
50 D10

50 10



2.2 JMP organ_pain_05h_T_gomp.JMP
Px 80|, .| Group | k |No| dose | x | v |yl°gomp | y2 gomp
=Overlay Plot ¢ o 1]1:_Owmg| 1| 1] 0.008] -2.52] a0 23.42 23.39
+Oneway o g|1:_Dug| 1] %] 0.008| -2.64] 90|  23.42 93,59
9 8]1:_Opg| 1] 8| 0.003] -2.52) 25 £3.42 23,39
- o 4l1:_owpeg| 1] 4] 0.003 -2.580 20| 23.42 43,30
oolums (8/0) b o|i:0ue| 1] 6| 0.003] -2.62 26| 93.42]  23.30
4% == 8[1:_owps| 1| 8 o0.008] -2.52] 30|  23.42 23.99
e o Tl 0mg| 1] 7| 0.008] -2.52] 25|  23.4% 43,39
P ° 8l1:_Oug| 1 8 0.003] -2.62] 20| 93.42 43.29
4x s gl2: _3ug| 2 1 3] 0.48] 80| 20.27 30,81
Ay o 10|2:_3ug| 2| 2 3| 0.48] 20|  29.27 39,61
4y1 goup ¥ “le e sue| 2 3 3] 0.48]  20[ 29.%7 39,61
dy o 38]5:Sham 3| &| 3o0000] 6.48] 45|  60.00 48.44
4y gompd o 396:Sham 3] 7] 300000 6.48) 45  60.00 48.44
2l 40[5:Shanm 3] 8| 300000] 6.48] 60|  50.00 48.44
70
60 E
50 eSS
1. T =
30 O
] o &
20
10
0 n (=2} (=2} (=2} £
2 < < & 8
= [=)] [=)] > wn
- ol 3 o3 el
o o o
% &
& M ¥
2.5

|

betad+|betad - betad|= I-Exw‘ Ex;{ hetal*[x-he‘taZ]*-T.Ml Log| 1 - mm”

2.6 yl*gomp

JMP 2
2.3 D50 beta2 = 1.5534 10" = 35.76 mg/kg



2.3 D50
Solution
SSE DFE MSE RMSE
1294.1805386 36 35.949459 5.9957868
Parameter Estimate ApproxStdErr Lower CL
betal 0.942726 0.348381 0.415895
beta2 1.553437 0.325327 0.773659
beta3 23.350389 2.661651 16.927044
betad 48.435372 2.042043
Solved By: Analytic NR
60 ©
g o
501 o o
1 o o
40 o /o o
1 o o
>_30— o o
g Qo o O
20- o o
107
0- T T T T T T
-4 -2 0 2 4 6
logl0 _dose

2.7

Upper CL
2.140485

52.844473



3.
3.1. Dso D1o
21
5.5
r=1- exp{— exp(MJ}
K
log x —
K
1 =log{-log(1- )}
LDyo
7w =1-expi-exp(n)}=p X
7 = log{—log(1 - p)} Dy 7=-03665 Dy  7=-2.2504
D1oo-p Z,
r=1- exp{— exp(w + ij}
K
noz, Z, a'  logx
n=(@-a)lx=-z, n'=(logx—a)lx+2z, logx=a’

p Z a D

p

— 17 —

(3.1)

(3.2)



3.1 10 C_ex405_CS2_D10x.JMP

G exd05 G52 D10x | 4 x
01| = Ex conc log n r p pTextrem like

o 1 1 40 06 1.69 29 2 0.07 0.0948 7.5867

o 2 1 bz2.99 1.72 a0 7 0.23 01880 146.4205

o 3 1 56.91 1.76 28 a 0.3z 0.3379 | 17.5888

o 4 1 g0.84 1.78 27 14 0.52 05422 18.6979

o ] 1 64.76 1.81 30 23 0.77 0.7584 | 16.3380
= 5116400 o £ 1. 6869 1.84 31 29 084 08177 74764
sy o 7 1 72.61 1.86 30 29 0.a7 0.9857 49083
d conc o 8 1 76.54 188 29 28 100 08991 0.0058
dl log 5 o q 2 49.06 1.69 30 4 013 0.0243 | 11.84449
aln x 10 2 5299 1.72 a0 f 0.20 01880 150131
A x 11 2 56.91 1.76 34 a 0.26 0.3379 | 20.0060
:Dﬁ}' o x 12 2 g0.84 1.78 200 14 0.48 05422 2018156
p ';k‘zx"”‘ x 13 2 64.76 181 33 23 088 07584 14.0161

x 14 2 f8.69 1.84 28 24 0.86 09137 12.0798

x 15 Z T2.61 1.86 a2 3z 1.00 0.9857 0.3163

X 16 2 76.54 1.88 R | 1.00 0.9991 0.0os2

17 403497 1.69 .1000
Jfogh - alph
piextrem = |1 -Exp|- Exp M+ Log|- Log[ 1 - p_point ] ]
kappa
like = |- [I*Log[p “extrem)+[n- r]*Log[ l-p ﬁextrem”

[y sy — . A
Fitting paremeteors in Tormula of Predictor
column to T column
Solect Columns Cazt Selected Columns into Rales ketion
4tX [ ¥ Fesponse || <N [[or ]
dcon ———— T
pipes (X Predicior Fomats] | AETETTN [Gaseat]
dn Group |
Ar Visight 1 :F-....:..u.l
Fp | T
dp axtrem Frad | i L Becall|
4like P e
By _|

b | Linrary |

3.1
JMP

! Predictor column must have formula

Formulag

PredictorParametori{alpha =

Heset JLR44B50098, kappa

W 536TO3A4308181), 1

|- Expl-Expl[ :logl -

Lozs =[ :r = Log|

Fanst Name( p extrem”)) + |
n vr) = Log(l
Hame{ " p extrem™)))

I Second Darivativas
[0 Mussrie Derivatives Only

JMP




3.2 Dy alpha
13—A HEME RELMEZERE HUSTERESR LSRR
alpha 1.6932844035 0.00942037 1.67275913 1.71007956
kappa 00453676384 0.00363052 0.03837678 0.05343997

antilog(1.6932) = 49.3497

1.0
J o 5

0.8
0.6

>
0.4

| (@)
0.2
C
0.0 T T T T T T T
1.60 170 1.80 1.90
logX
3.2 Do
3.2.
F(x) F(x) 0 1
0 Qygp Cop
y = atop F (X) abottom atop
Y = Qpotiom 0 atop ~ Cpotom
Y — Gyotomm = (atop ~ Olpottom ) F (X)
abottom

y = abotomm + (atop - abottom ) F (X) (34)

(3.4)
1 n= Py + BX



— 20 —

n=p(x=p,)

(3 : 1) abottom Q

(3.4)

logx—
Y = Coomm + (atop ~ Cyotiom ) |:1_ exp {_ exp (%j}}

logx—a 1 a
n= =—logx——
K K K
B=lx B,=—alc logx X 1= po+ PiX

y = abotomm + (atop - abottom ) I:l_ eXp {_ eXp (ﬂo + ﬂlx))}}

ﬂS = abottom ﬂ4 = atop

y' = Bs+ (Ba — P3){1 — exp(—exp(Bo + f1X))}

95%

(3.5)

(3.6)

(2.16)



4,
4.1.
7] o
1 T(x—u\] ¢« 1 1(1 yjz
= exps —— = exps——=| —X—+ 4.1
" I‘”\/Ziraz p{ 2( o ]} I‘” 270’ p{ 2\c o )
B=llc py=-uloc
xxx =] #exp{—i(ﬂﬁﬂlx)z} > < <
~\270? 2
x B { 1 2}
= exps —=(f, + B.X
[ o5 (ArAX) .
Py
JMP Normal Distribution (x)
7] o2
X_
n=""H (4.3)
O
Py
JMP Normal Distribution (x)
7] o2
X_
n=""t (4.4)
O
Normal
Distribution (7) u o
n= Py + PX n=p(x-p,)
10 2
0 100
y =100- Normal Distribution (4,+/,x) (4.5)

ﬂlzl ,80=(0,1, 2)



1004

4.1
ﬂ0:2 B=1 ﬁozo

NormDist_beta0.JMP

B.=(05,12)

100
80

60

Gl

40

207

abottom

NormDist_betal.JMP

Ba A

(3.5)

Y = Qpoiomm + (%p — Qpoom ) - NOrmal Distribution (3, +,x)

(4.6)



4.2. D10
Yo X
46) vy Yo X
Normal Quantile[W] i

top — “bottom

Xy=yo) = B : (4.7)
1
Normal Quntile Normal Distribution
p Yo

Yo = Qporomm T (at ~ Oyt )L (4.8)

otomm op ottom 100

4.7)
Normal Quantile(lgoj -5
Xiyoye) = (4.9
(y=Yo) ﬂl
B,=0 =1 10%
Normal Quantile(lloc;j -0
Xy, -10%) = 1 = Normal Quantile(0.1) = -1.64
Normal Quantile(0.1) 10 -1.64
p (4.6)
77::80+181X (TIO,XO) ﬁl

-1 = (X=X
A Xo B
n=p(X=B,)+mn,

y Yo 1Mo (4.6) n
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y— hotomm

atop ~ Apottom

= Normal Distribution (77)

Normal Distribution Normal Quantile

n = Normal Quantile(MJ

atop ~ Qpottom

p% o

. p
= Normal Quantile| —
o Q [100j

y = abotomm + (atop - abottom) : Normal DiStribUtion {_ ﬂl(x - ﬂ2)+ 770}

(4.10)

(4.11)

(4.12)
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5.
5.1. 2
+oo
2 0 100
2 Xi n; f
P
Binomial Probability (p,,n;,r) (5.1)
X n; Yy J=12..n Yi
9_ ~2
Normal Density(y”—jy‘j (5.2)
O
4.5)
2
Vi
Weigt 1V,
5.2.
2
ﬂO ﬁl 1
n= P+ BX

Cpotiom T+ (atop ~ Xpottom ) F ('7)



X; 2
ﬁi = abottom + (atop - abottom ) F (77) + gi (53)
& 2 L logL
ﬂo ﬂl abottom atop

k
L = [ | Binomial Probability (f,.n;,r) (5.4)

i=1

k

logL = ZIog{BinomiaI Probability (p,,n,,r.)} (5.5)

i=1
Binomial Probability (p,,n;,r;) JMP
JMP 2 2
3.1 loss

9i = Qpoiiom T (atOP ~ @vottom ) F (77) + gij

L logL
- i
L =] ]] ] Normal Density (%) (5.6)
i=1 j=1 o
K (Y=Y
logL=>">"log { Normal Density [‘—AJ} (5.7)
i=1 j=1 o
Yij
i=12,...n, y;
k n
S ZZZ(yij _yi)2 (5.8)
-1 j=1
2 2
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5.3.
Omg/kg
X log(0) = —© 0mg/kg
2 Omg/kg
Olhottom
r.]0 r0
P, = Binomial Probability (&,uom, Ny, ) + &
nk+1 I'-k+l
atop
Py, = Binomial Probability (c,,Ny.;:6) + €
log L, = log{Binomial Probability (&,uom:Nes 1)}
Kk
logL, = ZIog{BinomiaI Probability (p;,n,,r.)}
i=1
log L, ={Binomial Probability (&, N, 1)}
logL=1logL, +logL, +logL, (5.9
2
abottom 2 k +1 atop

sl = le(yoj' - &bottom)z

j=

N

S, = ZZ(yij - 9i)2

k
i=1l j=1

Mi+1

SS = Z(ykﬂ,j - O’K[top)2
=
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5.4.

g(x) = B + X
B

(G11) Y,

top

n

S=S5+S,+S;

F@)=F(9(x)) n=9(x)
g(X) = ﬂl(x_ﬂz)
F () 0

Y = Qporomm T (atop - abottom) -F (77}

p
p/100

y(p%) = abotomm +
top pottom

p% B, F ()

y(p%) = Qoiomm T (atop - abottom) : F{U}

y(p%) ~ Aporomm _ F{ 77}

atop ~ Ayottom

Ps

F(n)

(5.10)

a(x)

abottom

(5.11)



D)

af_P
CEat)

1= pony = (X=X ()

1= Bi(X=Xp0) + ey

(5.13) (5.11)
Y = Ayoromm + (Giop = Coriom) - F (BLX = X(poy) + 150y}
b
Y =B+ (B —B) FB(X=B,) + 1pon}
Mioon F(7) F(n)

af P
(2

e’ 1
= = =
1+e” 1+4¢e77

n=log—
-7
p
4y = log—"—
T =9 700

(ﬂ4 B ﬂ4)

y= 183 + 1
+exp{f(x— f3,) + log(p /(100 p)}

(5.12)

(5.13)

(5.14)

(5.15)

(5.16)

(5.17)

(5.18)

(5.19)
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Y = @potomm + (Piop = Cooriom ) - NOrmal Distribution {- 5, (x— 3,)+Normal Quantile(

y:ﬂ3+(ﬂ4—ﬁ3>exp<—exp(—ﬁ1(x—ﬂ2)+Iog(—log%»)

p
m]}

(5.20)

(5.21)



6.
6.1.
D50
D10
2.1 5 1
Alosetron 3 Sham
8 B3 Ba
X 0 mg
log(0) =
2
i =1 Alosetron 31 glkg
30uglkg  300ug/kg i=2 3 4
i=5

yij = Bs+eij, i=1 j=12....8,

yij=ﬂ3+%+eu, i=2 3 4, j=1 2,.., 8, (5.22)

yij = Ba+ej 1=5 j=12..8,

eij ~ N(0,02),
3 Br B2 Bs Pa
6.2. JMP
JMP organ_pain_05h_logistic.JMP
y v 3uglkg -3
300u g/kg +3 y2"

(5.22)



6.1
B organ_pain 05h_T _logistic
v o U ll:lgl[]
<53/0 Group | k dose dose |No |time| v | y1° y2~
o 1|1: Opg 1 0.003, -2Z.bZ 1| 0.5 30| 20.70] £23.84
o 211:_ Opg 1 0.003, -Z.bZ 20 0.5 20| 20.70, 23.84
o 3|1:_ Opg 1 0.003, -2.bZ 30 0.5 25| 20.70 23.84
o 4{1:_ Oupg 1 0.003, -2.bZ 4] 0.b| 20| 20.70] 23.84
o blil: Opg 1 0.003 -2.b% 5 0.5 25| 20.70) 23.84
o Bl1: Opg 1 0.003 -2.b% 6 0.5 30| 20.70, 23.84
o TI1:_Oug 1 0.003 -2.b% T 0.b| 2b] 20.70] 23.84
o Bll:_ Opg 1 0.003| -2.bZ g 0.5 200 20,70 23.84
x glé: Sug 2 3 0.48 1) 0.5 300 30.58] 285.19
x 1012: 3psg 2 3 0.48 2 0.% 200 30.58] 28.19
* 38|5: Sham 3 300000 b.48 6] 0.5 4b| 58.26] 48.22
. 39(5: Sham 3 300000 h.48 T| 0.b] 4b| b9.26| 48.22
. 40(5: Sham 3 300000 h.48 g 0.5] b0| 58.26] 48.22
y2"
IMP
2

BEE |

Hew Paraseter. . ol | L] SR Y I I :
betad lomer = 23.8367996613984  [XIEHE [Humeric —
betad upper = 48 2224805472044 wl |Tranzcendental | gy
betai D0 = 80.50540004 20457 %g Trizencmetric x|
betal_gamma = | B16Z81B4T724892 Character
Comparison = Clear
Conditiooal
Frobability
Statiztieal o
1=betud lower =
[betal_npper hnta3_|n'er]
tch[k] I= betad_lomer+
|l +Exp| betal _gamma tl].og!ﬂ[httai_ﬁﬁﬂl I.ogll:l[ .-:fr:nm?l]”
= betud_upper -
: o

6.1 JMP




6.2 95%
¥ Solution
Sok DFE MeE EMSE
1256, 8501954 36 34 .912505 5. 3088805
Parameter Estimate ApproxstdErr Lower CL Upper CL
betad lower 23.8308 2. 1877 19.7945 }
betad upper 48,2225 1.9583 43 86852 he . BOTO
beta? DLO 30,5035 19.0831 g.15533 118. 1814
betal gamma 1.5163 0.5072 0.7890

‘Solved By: lnalytic NE

=~
D50 = 30.5u g/kg 95% (19.1, 118.2)
(23.8358 + 48.2225)/2 = 36.03
log,,(36.0292) = 1.48
B0

||t B T Y

:.I T T T T T T T T
3 =2 1 0o 1 3 4 & i

logllh doze
6.2 JMP
6.3. 2
2 N;
ri pi = ri/n;

Pi



— 34 —

2 Pi
ni ri Pi 2 ri ~ B(pi,ni)
2
JMP
6.3 D10 logit_yoshimira_LDp
=logit_ yoshimura [¢ = p_logit
p% 10] . 1] x| r|n D log % - like |z alphs
“Overlay Flot 2 ° 1| 1/ 101] o 10/ 0.00] 2.0043] 0.0425| 0.4338] -2.1972
~Nonlinear ° 2| 2/ 136] 2| 10| 0.20] 2.1335] 0.1643| 5.0481 -2.1972
o 3] 3/ 183] 5| 10| 0.50] 2.2625] 0.4647| 6.9565 -2.1972
° 4] 4] 247 8| 10| 0.80] 2.3927| 0.7957| 6.0046| -2.1972
° 6| 5/333] 9| 10| 0.90] 2.5224| 0.9465| 3.4143) -2.1972
—— ° 6| 6460/ 10 10| 1.00] 2.6532] 0.9874| 0.1268) -2.1972
6.4 Di

|Table Columns "| hd |Funotions (zrouped) "| OF
| BEw o ‘
X = Numeric
r (] =) ke Tranzcendental
n kel &) Trigonometric
D Character al
log Comparison
p_logit” Conditional
like Frobability
% alpha Statistical Rd
B
|
1+Exp|- | betal*| /og x-betal2]+Log i,
= [100- 2]




6.5

-[r*LOg[p_jogjt"]+[ﬂ-fﬂ*LOg[l-;Lfogjf"y

(5.5) D10 IMP
6.6 D10
¥ Solution
Loss OFE  Avg Loss Sqgrt Avg Loss
20.98420486% 4 5 2460512 2.2904%86
Parameter Estimate ApproxstdErr Lower CL Upper CL
betal 11.582913549 2.768041331 6.39364422 18.0685451
beta? 2.084045273% 0.06814372 1.92988933 2. 177068232
Solved By: Analytic NE
beta2 D10
1.0
] )
0.8+
0.6+
o, i
0.4+
0. %4
U'U_ T {? T T T T
1.8 2.0 2.2 2.4 2.6 2.8
log x

6.3 2






